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Class:9th

Test:Physics

Attempt ......... questions

Centripetal force is directly proportional to
b.v’
d.r

2
a.m

C.V

The force oppose the motion of moving object

1s called:
a. Momentum b. Friction
c. Power d.Work

Coefficient of friction J_ between the tyre
and wet road 1s
a.0.2
c. 0.8

b.0.6
d. 1

Which force rotates the body in circle:
a. Magnetic force  b. Gravitational force

c. Centripetal force d. Centrifugal force

C.V d. r
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The value of acceleration producedbya 2, & wjd/u’i};m/uwl,r,f%gﬁ},/‘;,”&ﬁ)zg

20N force in a mass of 8kg

a.2.5ms b.3.5ms "

c.5.5ms” d.7.5ms”

The Coefficient of friction of irom,and jron
a.0.9 b. 0.62

c.0.8 d. 1.0

Coefficient of friction between glass and glass
a.0.9 b. 1.0

c.0.8 d. 0.2

Centripetal force always act . ... to the motion
of the body:

a. opposite b. Parallel

c. Perpendicular ~ d. Upward
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